



1995 Cat 11-3 V.2

$$\frac{d[O]}{dt} = k_1 [O_3][H] - k_{-1} [O_2][O][H] - k_2 [O_3][O] = 0 \quad \left| \quad [O] = \frac{k_1 [O_3][H]}{k_2 [O_3] + k_{-1} [O_2][H]} \right.$$

$$\frac{1}{2} \frac{d[O_2]}{dt} = v = k_2 [O_3] \frac{k_1 [O_3][H]}{k_2 [O_3] + k_{-1} [O_2][H]} = \boxed{\frac{k_1 k_2 [O_3]^2}{k_{-1} [O_2] + k_2 [O_3][H]} = v}$$

$$\left. \begin{array}{l} \text{si } k_{-1} [O_2] \ll k_2 \frac{[O_3]}{[H]} \\ \text{si } [H] \ll k_2 [O_3] \end{array} \right\} \rightarrow \boxed{v = k_1 [O_3][H]}$$

$$\left. \text{si } [H] \gg k_2 [O_3] \right\} \rightarrow \boxed{v = \frac{k_1 k_2 [O_3]^2}{k_{-1} [O_2]}}$$